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W0lg shenbuwiter wEMWTE srlsme 2 (HauTsEw Slmudl
(GenmevGorgwid @GeuGeo, GarravGomiguid wleafluir, Gerreniomig i
LredlLimyd, YerrevGumiy WD aeueuTsen)

The most serious form of malaria is caused by :
(Plasmodium ovale, Plasmodium malariae, Plasmodium falciparum, Plasmodinm vivaz)

sThdlen fped elleng LTeysed __ eremiui(hib.
(LGLr Carfl, ealCuor Carhl, eramigCrr Carfl, @&Camil)

A seed dispersed by wind is called
(Autochory, Anemochory, Hydrochory, Zoochory)

bié Comaussns Ggaamanier Cargsdr sTius srairdas () Glous
Ggreneeier 2 drarar. BiggHena GCoursaner GIUISHID :

(eflerT Guissd, mily eriy @uéshd, Geudl &y @uissn, BT 57Ty QiusstD)
The roots of coconut tree are seen away from the plant. Such kind of movement of root

for want of water is :
(Phototropism, Geotropism, Chemotropism, Hydrotropism)

QurmsswHners Bé@s.

(Breumaser, el (hadlafl, seueer, Ljadl, LTbLY)
Odd one out :

(Plants, Grasshopper, Frog, Tiger, Snake)

@ eafl mIb eugller memema auilCL aumDELITE e LiTen & ETaugen
rrewTd epafiudlesr .
(Qrdluedliiiuime, Hgmamen)

When sunlight passes through window of the classroom its path is visible. This is due
to of light.

(reflection, scattering)

S 136 sflwsded cliaflar 2 arerg. suilfler o arer ol .
(rdlgd sidleo, Lrrmfls oudlab)

Vinegar is present in acetic acid. Curd contains _

(Lactic acid, Tartaric acid)

pelar geuidger i Leiemanuie o erer Qgrsefler cramentldens
(7,17, 8, 18)

Number of periods in modern periodic table is .

(7,17, 8, 18)

o paeoTerened BTl 2. CarHmISET eTearlili(hb.
(smllyid, Ceudefl wHmb shsd / TdlFb, Wssamar LHMID RIS | STOIIL,
Ggseer wpmb Geuerefl/ srdliyb, Geudrafl Hmb gudlamiuin

____are called coinage metals.
(Coppel Silver and gold/coppel Brass and gold/copper, Brass and silver/copper,
Silver and aluminium)



13.

14,

15.

aiminin{n CH, o3,

e NS

FpErat Ll agaiTar Laiml T

(( H. / (
Formula of methane is CH, and its succeeding member ethane is expressed in CoH,.
The common difference of succession between them is ¢

(CHL L)

Ly Hlepeordlev o e semionent Gl immatlam 2 b -
(‘uﬂ& SiEan, s @mpal. &0, (pig.adladl)

The momentum of a massive object at rest is

(Very large, Very small, Zero, Infinity)

20 otb 86 Fevlwerer GnTuild 0.2 A BlanGann_Lib 2 (Harss CoenauLi(phLd
Nemenpds Geumun(
00V, 4V, 001V, 40 V)

The potential difference required to pass a current of 0.2 A in a wire of resistance
20 ohmois

0V, 4V, 001 \/ 40 \)
©&& HlLpsaensaricy Cugy omm gl seer el 2idls Cleuiusams
o | seuTdlng).
(Qeuantents, LlETTGETTUTEN, SH(MHanD, 1DEHEEN)
surface absorbs more heat than any other surface under identical conditions.

(White, Rough, Black, Yellow)

10 Qe 8. welugnyoparar @dﬂ@@)@lé‘l&"\l@ﬁ;@ 25 Qe Agrenavellay Clummar
mm&&uu@.a‘;m)@ Gibugdlen Cgiranevey
(50 @18, 16.66 Qe15, 6.66 Q#15, 10 Qa.if)

An object is placed 25 cm from a convex lens whose focal length 1s 10 cm. The image
Jistance is :
(%0 cm, 1666 cm, 6.66 cm, 10 cm)

Treneu LD ELIBLD SHETEUTS 2eDIDELS)]

(g S uiia. @l 2pquid, Gl opguilen. Carars piy ulév)

The field of view is maximum for :

{Plane mirror, Concave mirror, Convex mirror, Spherical mirror)

[ Slmiis / Turn over
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(.2) QTWOITS LTTHUTL SLSHEQ (DSET
1000 sLamhacrss weaart shara CaprGor Gelluemaer

Cgmemdlasi.

Do you agree with the foll
‘ia“ﬂarf'k worked out the first sc

)
) - 1000

/E_l)r’l/l‘t Fisititi

e L L DIETHEDET DiFen

‘nj';

Sor
= At

BHEDDLILITLL

- 40)

TIiOM - il
/ (;\Iarks . 40)

e sflwurer sapilenat er(pg)s.
(Pp&OTE GlauaiudlLr,

If not give the correct statement.
ientific experimental study on heredity.
o the modern Homo sapiens arose.

L ghubd CrrusEs_ar tUTmsss.

gmeuiL_iblsor

@son i {h G

aneit_Libiem A

K AN
Tlanhd BN

el 1Sl By

bl TCesmSum

™
i

o Blem L

IV EHES ]

anoul L ibles €

ol Gl

YVitamin A

Vitamin 1)

Vitarmin O

Beri-Beit

Spssan LLdmg aarrhgl =i whmib < -eflear Quiflajib.
Copv the diagram given below and write the names of A and B.

20x2=40
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20.

21.

(81

é%l)&&wbﬂ_ QUSSR &en el Feue]

Fa D M) (A) Sl ol sl mres i G(pelian pL gt s
2AmPssULHE g,

srgarin (R): &lev Bremifldem srindimarar A IR BT
RUEGUEESHDL.

£20 GPUGlGdrer @l e aflumen o onw 25rBols

(<=1) (A) eflwrang) (R) sflurs Gunmpeeihame

(<=24) (A) stlwrang) (R) seummeng,.

(@) (A) seum evmed (R) sflwmeng

(/) (A) wOmL (R) @rar(BHiGo Fiiuirag.

Consider the following statements :

Assertion (A) : Pituitary gland is called as the conductor of endocrine orchestra.
-l

Reason (R} : Some of the endocrine glands are regulated by the pituitary

Now select your answer according to ﬂ‘w coding schem@ given below :
(@)  (A)is correct and (R) is not giving cor rect reason ng.

(b)  (A) is correct but (R) is wrong.

(c) (A)is wrong but (R) is correct.

(d) Both (A) and (R) are correct.

E._L.‘

CerhésiiL_(Perer wallg epanerullen Lii1h alnihal &, b LTSLmameT

(a) MmSTEL 2_ew(Hd LGS (b)
Copy the diagram of human brain and label ¢
(@)  Seat of smell (b} Geatof vision
- - _\‘;\_“
L *

Dv aw fhe given dJaO]am of p"tddv G&.;d and b
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23.

24.

CHmig 1 Gl-gdens g lys

(<31) = aniii 1Bene

(Cleuereumey, wiranar, wirdi,

(«24) wWrenestuGlen g,g;@rmm

Ceul (Wb umad, Con Mgl Uiaen,
b ! ) !

LIM&GEr)

Fill 1 the blanks.

(a)  Sensitive whiskers are found in
(Bat, Elephant, Deer, Cat)

RO

6

D eleomalg

 Ligvedlen O LT (el S, LD.

/I_[)

(b)  The tusks of elephants are modified .

(Incisor, Canine, Premolar, Molar)

S esren(mid é"AL.,.L.,GUGGMMTGMU.J @rji_m;es.

F&g@@; Bés o i

mianguire

mmrﬂf urr@ 1D fmﬂo

01 &L CUINE DS, (N6 S ou i

e ey

f %Jé ot o] (TG & &

|
[(’25 e ]} oSluimeney

Fill the tabular column -

r Excretory organ Sent out as

|
l
!
Lungs 5

Expired air

Skin Sweat

Qam B ae L. (D erer Amifraesd)
ESaeL. LITHRISmEN (&ml&&m

(«31) Glomavef GrSEH

1 Beirt

o

L Ggrhpsdlen b GUGO T I

T ﬂ'\‘IoWLD

Draw the given diagram of LS. of Kidney and label the following parts -

(@) medullary pyramid
VAN
)
5, : !‘/’
\ a4

(b)

ureter
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K { g (BEED LiLgams Se.alés.

(-2 LD A whmd B -e srenmlu(d flussmisame @ollid (s,

() ervatn  GQadlussnsd  Qsriired  Sephid @len e safl e
Gluggnsatlalmbg GeumiLibhdeammenr.

Observe the diagram :

tar Mention the type of movement shown in figure A and B.
by How does the movement differ from the movement of mimosa ? (Touch me not
plant)

26. 2.4 Garmevg s@adr swrflés LweTLdHID STEUTRISET WTene ?
Name the plants which are used in the production of bioplastic.

~1

[

HUMDDE Fq 68Ty F(HEE)S.

(=) Qupems aumyelldy sramiLBb WpeeTaDLTET Glummer Myl CL e,

(=) s, QUL Grrallwid Gubams eury oy duemer @by Qup Ewieyb
SUCTRIGET.

Correct the statements :

(a)  Butane is the chief component of natural gas.

(b)  Coal, Petroleum and Natural gas are renewable resources.

28. Epssarr cursHUkismeTs Seua.

&1 ) (A) : greur eramlantis wHmib el saf e Qarplledmhg)
2 UM esd QupLuBHng).

giyen D (R): @gl o udfl srgrubn erareyb SADWSFULHSE mg).
£ @PluGi@aer @Sy eflurer el ew Carhblg .
(<=1) (A) womid (R) Qrashin g,
(=) (A) #1 pamed (R) geupreans.
(&) (A) sl wHmb (R) GUTmHESHDS.
(/) (A) saum parmed (R) sflwmer sammy.
Consider the following statements :
Assertion (A) @ Bio diesel is made from vegetable oil and animal fats.
Reason (R) : [t is also called as bio ethanol.
Now select your answer according to the coding scheme given below :
(a)  Both (A) and (R) are correct.
b) (A} is correct but (R) is wrong.

(
() (A)is correct and (R) is relevant.
{

d)  (A) is wrong but (R) is correct.

[ Slapiinys / Turn over
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AT, (g M &lev Ll (Vq)a)ﬁe‘,eﬁ\\ebl phl gl 56 G (GG ielTe g,

{ Gun e »1 pH 1wl

| (0117 &80 74

i&‘m wwiew Comem ‘ 8.2 :
]@(ﬂmﬂ B 2.5

‘@5 L) 2uGwre woubGuwrethur 12 B

L

QETHEHES UL L B LGN EHT6h L o rTibe SpasaL elaTTEsEhsE aflenL.

S(HE -

(o)) eThblghs GlLr GTEeT IBleSHSETEnD S GHLULIEHE ?
Bol®bhd @& e

() eTBOgBS CuTHETHET STTSHETEND 2 nL el ?

The pH values of certain familiar substances are given below :

( Substance pH Value
F(‘)()d 7.4
| Baking soda 8.2
Vinegar 2.5
Household ammonia 12

Analyse the data in the table and answer the following questions :

{(a)  Which substances are acidic in nature ?

(b)  Which substances are basic in nature 7.

SpssemL. aurESlumisemen HEUE.

N (A) : SrUUT LTSS TRIGEET @ﬂm;mmtju@\gg)@ﬁ@m@ Greriley LIFnE
Hp Ligob Caramélng

gryerd (R): @)bs Ugwddnsier gy sry Ty eriuen.

G mOlEIGerer @il sflurer eflanlaul Caribla (.

(=) (A) womd (R) shwrerenes Cogd srreamd (R) &ng (A) el &

QuUmmESDTETE).

(=) (A) 0] SperTe srreanid (R) spm (A) el un@os o DD,

Consider the following statement :

Assertion (A) : Greenish layer appears on the copper vessels if left uncleaned.

Reason (R) @ It is due to the formation of layer of basic copper carbonate.

( y PF

Choose the correct option :

(a)  Assertion (A) and Reason (R) are correct and relevent to each other.

(b)  Assertion (A) is true but Reason (R) is not relevant to the Assertion (A).

[ lgpiuys / Turn over
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36. ynlaniuggic = COetlénd, ot e

Name the aluminuim allovs and state their uses.

37.  Glunnegs.

Qg Quwi sumuiLin(h)

B Caei CHLCHLCHLCH,
&G e CHLCHCH,

LGyrGuich CHy

n-1Glyy 0 Guet CHL.CH;

Match the tollowiny

Common Name Formula

Methane CH;CH CHLCHE
Etlala]‘lﬁ‘ (}i'L[i:',\%;‘

Propane CH,

n-Butane CHCH,

38. Camgil @i ibdeoal bl
(1) olleng  dlenn X (WDlhidbald wlelich 2.heb=
(=) liyeu cowmi yaueoi iglis LW Lwedt(hdlmg) erenlov . MRI wL.b
Uy Saedleo iieoiiindling
Fill in the blanks.
(a) Force= Mass < Acceleration then Momentum=___

(b)  Liquid hydrogen is for rocket then __  for MR]

39. Q@ueradld dlinid dlnco . @HAeyd eleErsEpls Fmilys Smenar
R @Miudeptd @milGleug wrL.

As a matter of convention the anti-clockwise moment is taken as ~and a

clockwise moment 1s taken as
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Fill in the blanks.
(a)  Potential ditference

(b)

Chiim(me g

t‘ _____

i ot (o PN TR
;(“%L \ol_fl gzlﬂ)ﬂum

e LD GaLD
4 = SRR k&b

Saidut. T

Qlamei bl LlLidblemyew

i
i
{
L

-l F -
(Flemesidin

Hydro Power Plant

sevs1 (M Llig L

| @@9“;6‘3 =4 '15]}2”,

[ R AV I A TR

DA ST Ve

S Voltmeter; then Current is

Conventional

£

(p&ev Hlenmsenid
s (55] T S ELD

DL ST CaTey

. o I
SR Y y i
o Gl ;
4’3@[ L %

Match the following -

Scientist

Invention

{(_)tt() Hahn
\

‘George Simon Ohm
|
|
|Henry Becquerel
} )

L i s

First batten
Radioactivity
Volta Nuclear tission |

Ohnes law

I — SR Sl

]
|
!
s

source of enerey; then
n_ ’

5380

CRaETL D

! e
- £y . >
IR RSN Ay
it -
.

energy

GTIDT SHTHAT @uipHens sEH NS geflmigenmd Qevetlall o DS S T

gHT a0,

(<31) @uiheos HETIL158 Db eerlodi(hh Coumy
(c2) <2H00) adlichéden =2

v rays are Narmiul radiations emitted by natural rad

(a)
(b)

Which are other radiations erufled by natura

&

LSBT 6 BV, 6 6OTe!

What s the untt of nudlea vadiation *

?

sl SEsEET Wreneu?

joactive substances.

| radivachive substances ?

[ &lmiigg / Turn over
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43. Cunmbsrs eenenm gam(Hby Ese b
(1) uhCarenrd, alew@ Gareambd, BarGarambd, ComGaremrd
(<) @edlwumg, Gbleerey, swgear yly, Gedlbeaee
Find out the odd one :

(@)  Angle of incidence, angle of refraction, angle of emergence, right angle.

(b) Convex mirror, concave lens, plane mirror, convex lens,

44. Yemeumd eursdlwgdla Genpaafmulblar Hmsseb.
(1) srhsLILew erewr WSHUL W (Hib Clarar. el
(=) sTHS ellenss Car(hser anbss Ggampaeanid Hsrimd el penearude
Plgud.
Correct the mistakes if any in the following statements.
(a) Magnetic field is a quantity that has magnitude only.

(b)  The magnetic lines emerge from the south pole and merge at the north pole.

45. @ GWheeadlear gelw gy 2 LS arafier Qevadlar dpafar vl aTars.

The focal length of a concave lens is 2 m1 Caiculate the power of the lens.

Yifley ~ 111/ SECTION - 111

(HluCluemrasdar - 20) / (Marks : 20)

GOl (1) @eubeurm LEHISmEBEIL @ cllarm aigb RISSTE 65laTTEHSEHES
aflen L _wefldsayib. 4x5=20

(i) geuGleurm ellamelin@h mmal WwdluGlLismrser
(il) Coeveuwrer QL msald Ll th euenTs.

Note : (i)  Answer any four questions by choosing one question from each part.
(i)  Each question carries five marks.

(iii) Draw diagram wherever necessary.
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@H -~ 1/ PART -1

(<) 2 uilfl 2 aurfl cremmmed erevrar ?
(<2) 2.4l e eorflllen LwerTurhser gCaeayb Brendlamern eT(pg)s.
(a)  What is bio sensor ?

(b)  State any four applications of bic sensor.

HIV -g garl_plyb womnin 2 55 su@asih 25leyseT Wrameu? <ieuhen
SHEGD (PEODEHET 6T(LPGIS.

What are the tests to identify and confirm HIV virus ? Give their preventions.

L& - 11 / PART - 11

(<=1 sall 2 meur@h Blapasluticnar @

(<) @bblapsdienar smasnrs cileurd.

@) Qbblspeiamer @GN&EL L sdlamen auamrbg UTERIS®ET G.
(a)  Name the process by which fruit is formed.

(b} Give the development process in brief.

(c) Draw a neat diagram of that process and label the parts.

(1) Spsar. QUL smer cuaslL(B&SS.

slenl, &g, Wearrevy s, Lbser

-

(<) 2@l W euSUUT IgnN&ETe ellaTEssmes H(Hs.
(a) Classity the following substances :
Wood, Paper, Plastic and Grasses

(b)  Give detailed account on your classification.

[ Sy / Turn over
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51.

(b)

(<31)

(@)

(b)

L@ - 1T/ PART - 111

IR (1] Xl
&l erestlcv ([hfﬂ@ﬂ glirnin epeodEay 1

. A
DG i; Giflenl &TmD csemyblenm 16

EO@M L. TaeTEn i

UmUELmmaTsetian sl aninanis Eldanntaesn e el H @b

epevdan meih@ELy 2 dier 6 Ceyin ppanm Goimi (ST o (D).

&

Calculate the gram molecular mass of water from the values ot gram atomic
mass of hvdrogen and oxygen

Gram atomic mass of hyvdrogen =1 gm
Gram atomic mass of oxvgen =16 gm

Atoms and molecules are the building blocks of matter. Tt out anyv three
differences between them.

DErM&TI LG @gﬁff; D@ csaru (b (A) wrain &fln Garwgdler
ppe&EFam eumitir(h C ,H ”):., DieGamon adsaTi e olamanyflbg)

Glaflw wemTLpen:. U] CESH‘U.@ (B) -eoiLi smdlmay.
()  Corwbd (A) wdHmid (B) -eowl s

() @epespufer Guimklropdl ~ugen Goudl sioanim_a

Qemeumeuemaumhlen Glirgy Ohnud mmid TUPAC Glouimsener
(1) CHLCH,COCH,
(iiy  HCOOH

An organic compound (A) 1s widely used as a preservatives in pickles and has a
mo‘ecu«ax formula CH O, This compound reacts with ethanol {o form a sweet
smelling compound (V

(1) Identify the compound (A) and (B).

(i) Name the process and write the corresponding chemical equation
Write the common name and IUPAC name for the following -

(1) CHCH,COCH,

iy HCOOH
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(=21} hlepm. crenL Qeuhdlh@E @leni. (ud 2 drar Conmy il Hmea,

) @@.%ﬁmw Glgmple @]L“L;@ggf"dﬂ LHLIGNTEERET 67 (1D,

Tabulate the differences between mass and werght,

{

(a)

(b)  What are the uses of cryogenic techniques ?
(=2

) ubsdr (i) eNew@mdi
(i) WBeredlm (iv)  dlens wrmns Gamenid.
H

N\

(<2p) LITTEneU GEnm LT GQETMIET & 6T (L.
a) Label the given parts in the following diagram.
& b & alag

(1) Incident ray (i) Refracted ray
(iti) Emergent ray (iv)  Angle of deviation
/
N /<Gﬂ?§D M
,\ "(’ \\
I TN
AJEN F

(by  Write any one defect of vision.

s

~00o0-



